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19. In how many ways can the shape on the left be completely covered using

nine tiles like the ones on the right?

6 8 9 12
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20. Murad always cycles at the same speed and he always walks at the same
speed. He can cover the round trip from his home to school and back again
in 20 minutes when he cycles and in 60 minutes when he walks. Yesterday,
Murad started cycling to school but stopped and left his bike at his uncle’s
house on the way before finishing his journey on foot. On the way back, he
walked to his uncle’s house, collected his bike and then cycled the rest of
the way home. His total travel time was 52 minutes. What fraction of his
journey did Murad make by bike?

1 1 1 1 1
6 5 4 3 2
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21. Janna decided to enter numbers into the cells of a 3 x 3 table so that the
sum of the numbers in all four possible 2 x 2 squares will be the same. The
numbers in three of the corner cells have already been written, as shown.

Which number should she write in the fourth corner cell?
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22. The villages A, B, C and D are situated, not necessarily in that order, on a
long straight road. The distance from A to Cis 75 km, the distance from B

to D is 45 km and the distance from B to Cis 20 km. Which of the following
could not be the distance from A to D?

10 KM 50 KM 80 KM 100 KM 140 KM
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23. The large rectangle ABCD is divided into seven identical rectangles. What
: . AB
h — ?
Is the ratio BC

1 4 8
2 3 5
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24. A painter wanted to mix 2 litres of blue paint with 3 litres of yellow paint to
make 5 litres of green paint. However, by mistake he used 3 litres of blue
and 2 litres of yellow so that he made the wrong shade of green. What is

the smallest amount of this green paint that he must throw away so that,
using the rest of his green paint and some extra blue and/or yellow paint,
he could make 5 litres of paint of the correct shade of green?

5 3 2 3

— litres ? litres — litres — litres i litres







